‘ lmpllfylng Expressions With Integers

22d two numbers with the same sign, add their absolute values. The sum has the
1gn as the numbers. To add two numbers with different signs, find the

" -r2nce between their absolute values. The sum has the same sign as the

i oer with the greater absolute value.
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b. -8 + 5= -3 &84 (—5) =3 =

n

subtract a number, add its opposite E
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b ad-T7=44+(-7) b. =4 - (-7)=—4+7 ¢ —4—-7=-4+(-7) =
= —3 =3

8 =-1
| ;
;H‘ = “roduct or quotient of two numbers with the same sign is positive. The product

I cootient of two numbers with different signs is negative.

i

Multiply or divide.

8 = (3)(—5) = 15 b. -35+7 = -5 .24 = (—g) = —

Simplify 22 — 3(4 — 6) — 12.

| 1sc the order of operations shown at the right.

F-34-6-12=22-3(-2) - 12

Order of Operations

1. Perform any operation(s) inside grouping symbols.

=4-3(-2)—-12 2. Simplify any terms with exponents.
=4—-(-6)—-12 3. Multiply and divide in order from left to right.
=4+6—-12 4. Add and subtract in order from left to right.
» =10-12= -2
XERCISES
mmplify each expression.
E—1+51 2.12-12 0 3. -15+ (—23) —38 4.4 — 17 —13 5 =5 =12 =17
Bi7 + (—18) —1 7.3 —(-5) 8 8. -8 —(-12) 4 9. =19 + 5 =14 10. -8 + (—8) —16
-7)(—4) 28 12. —120 + 30 -4  13.(-3)(4) —-12 14.75 + (=3) =25 15. (—-6)(15) —90
MI8)(—4) -72 17. -84 + (=7) 12 18.(—13)(-3) 39 19. (—225) + (—15)1520. —16 + 8 —2
21+ 5) + (-3)2) —18 22. —4(=2 = 5) + 3(1 — 4) 19 23.20 — (3)(12) + 42 0

b1 _ 36 —12
Bt =r @

£, 23)<4 il ;‘2> -10

5 - (—4)(-3)+ 3 2

25.52 — 6(5 — 9) 49 4/(12)(3) — 2] 128

28. (3 — 10)2 + 3(—10) 19 29.0+77-7-2% 1

31 (B

P+ -2 18 32. [4(-3)]2 + 4(—3)? 180
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